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West Bengal State University
B A 7 B & 7ZBCom. (Honours, Major, General} Examinations. 2015
PART-III
HISTORY - Honours
Paper-V
_ ( New syllabus and 'Old sz’llabus )
Duration : 4 Hours - _ © Full Marks : 100~

Candldates are required to. give thefr ansivers in their own words as far as practicable,
The figures in the margin indicate full marks.
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{ New syllabus )
'Group -A
ot v

Answer Question No. 1 and any four of the rest,

S TR U QIR W (I-(I BilG e Sed A
1. Answer any four of the following questions : - 4x5=20

- (A-(I BT o0ed Tk fm ¢

a) What do you understand by 'De-industrialisation’ ?

b) What were the objectives of the Aligarh Movement ?
SIS S o R fe 2

cl ' Explain commercialisation of agriculture under B;itis’h rule,

oot =treicat ﬁ‘az qifeeraae W I |
~d) What do you mean by the 'Safety Valve theory' ?

‘CR G1eTs oY’ 9T F (IR 2 |

€) What was the essence of Gandhiji's Satyégraha ?

S Al eTiaten e S e ¢

f) . Why was the Swarajya Party formed ?

R e v e e
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g) Why did the Cripps Mission faIl ?
ot foom a1 e gt 2

- h) Discuss the process of integration of the princely states within the fold of

the Indian nation state.

| SISO AFA AL @A Wﬁﬁﬂ\mﬂ% erfémwmww {
Group-B
fsiot -4

Answer any four of the following questions : 4 x 20 = 80

T~ BB 2 $ed fm ¢

. Account for the regional variations in the revol.t of 1857.

1857 AEA (AR Sl (aibay o a9 |

Why did Extremism originate in Indian politics ?

SITST AGO0S SANATH TG a1 FfesA ¢

Anayse the rise of Gandhijl in Indian politics. How did Gandhiji give a new look
o the Indian National Movement ? 14+ 6

wﬂﬂa@@c@mﬁﬁa@mﬁmﬁwﬁﬁwmﬁw DT
ol I LT 2

Show how the Muslim League was gradually converted into an instrument of
full scale separation. '

%ﬁf@ﬂwa@%aﬁﬁﬁﬁmﬁmwmammw
gGel |

Give an account of the growth of modern industry in India between 1919 to
1939. How did colonial rule affect the Nature of industrialisation during this

_ period ? 14+6

1919 {BRi (@ 1939@% mwmqﬁmﬁaﬁmmﬁmqﬁﬂ | @F AR
T SaTs SRR = Fer Teis sl 2

'Exdmine the nature of popular participation in the Quit India Movement.

"SI QUG ST SRR Sl 2 {95 Fe |

Did the"_l‘ebhaga movement succeed in achieving its goal ?
(oSl Siicwier % Ofa G 7{Acet 7iet guafee ¢
Why was planned economy adopted in India ?

TSI (I AfFSEe wLNe o o9t 3rafeA ¢

What was the position of women In late nineteenth and early twentieth century
‘India ?

Tfm o meﬁﬁﬂwcﬂm-ﬁwﬁﬁmwww |
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‘Weést Bengal State Umvers:ty
B.A./B.8¢,1B.Cotit { Honours, Major, General ) Exammations, 2015

PART - III .

HISTORY — HONOURS
_ Paper - VI _
{ NEW & OLD SYLLABUS )

Duration : 4 Hours | ' [ Full Marks : 100

Candidates are required to give their anwers in their own words asjfar as—prﬁaﬁﬁ?:tb?é
The figures in the margin indicate full marks. :

- TG ¥ArTEd FHoere e @9l wﬁ‘m
ﬁl@’&mmﬁ S{efsTR oo |

( New ssrllabus )

. Answer Question No. 1 and any four from the rest.

v T 2P G2 O (T (T BIATS 2d Bed e |

Group -A
frete-=
1. | Aﬁswer any four of the following' Questions_: ' : 4 x5 =20
@ G S oo Be F o | | | |
a) How did Rousseau inﬂueﬁcc the French lievolution ?
2P T T Ree el SwREr ¢

b)  What was the significance of the fall of Bastille ?
A1 el SR Sieo T foet 2 o
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c) Whﬁt is meant by ‘Spanish Ulcer’ ?
IR WS 0O P (T 2

d)  What were the principles of the Vienna Settlément ?

o St o8 Al fe fiet 2
€) “fhaf “.ras the roie of Louis Kossuth in the..Hu.rigarian revolution ?
o R 2 o i e fie 2 |
B f] ) Write a note oz’i,_the'_ Frankfurt parliament.
FIEYE oIATITE Sorm b B B |

g " What was the Kultur Kampf® ?
gl o e fist 2
h)  Write a note on the Triple Entente’.

o iore’ a3 Borm @3 Bt B |

Group - B
w4
Answer any four of the following questions. 4 x 20 = 80
@ W S avam Ter f) '
2. Analyse the. social ahd economic crises on the eve of the French Revolution.

T R 2T AP ¢ IYeafes mabef s w2 |
3.~ Make an assessment of the Jacobin Republic. Was the terror justified ? 10 + 10

TGP STETeTaT ¥ S e | St 6 gt e ¢
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Would you agree with the view that ‘Napoleon W_as' thé Child of the Revolution’ ?
“CRNTETE [ T faem — el % @ T ey o 2

How did Metternich try to create a conservétive system. in Europe ? To what
extent was he successful ? S S | _ 12+8

TERGER 2

Was German Unification achieved more by ‘cpal and iron’ than by ‘blood and
iron’ ?
mwmﬁsw@m%wme@:a@awmm
AR ?

Why did the Industrial Revolution first occm-"i'n'Eﬁgl.ar'id ?
foret fRe R RIS o™ Wb 2

What \;rere 'the main features of Bismérck’s foreign policy ? How far did Kaiser
Wllhelm—il depa.rt from them ? : | _ 12+ 8
wwwwm@ﬁﬁ&mmwmmmmm
Picafie 2 |
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9.

10.

Can the period between 1870-1914 be termed as the “Age of Imperialism;’ ?
Sa0-5838 T TURS I R MR g W@ T 2
Why were the Bolsheviks successful in the Russian-Revoluﬁon of 1917 ? Was it

merely a handiwork of Lenin ? . ' - 12+ 8

5533 WWWWWWW 7 aft R cpmt crfier 1% foet 2

{ Old Syllabus )

Answer Question No. ¥ and any four from the rest.

3 7L Y @A O] (T (F SIATG AT T8 el |

Group - A
festa-=

Answer any four of the followiﬁg questions : . 4x5=20.

A7 7 G S e T fir 2

‘a)  What were the causes of the Indigo Revolt in Bengal in the nineteenth

century ? : :
TRt wrecaa Qe Nefives Ieal e B o
b) What is Utilitarianism ?

f&wam qeee 5 @@ e
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West Bengal State Umversity
B A./B.Sc./B.Com ( Honours, Major, General ) Examinatmns, 2015

PART - III

HISTORY — HONOURS
Paper - VII - ’
( NEW & OLD SYLLABUS )

Duration : 4 Hours ] - ' [ Full Marks : 100

Cand:dates are required to give their answers in thetr own words as far as practzcable
The figures in the margin indicate qu marks.

TR AT i oI T ey
AT HLA BT | (TS |

( New Syllabus ) -

Answer Questron No. 1 and any four from the rest.

>4\ﬁﬂaq\wmmmﬁﬂmhﬁm

Group - A
feor

1. . Answer any .fourof fhe following questions : : 4 x5=20
¥ i o1l sicea Bag e g | |
aj Why Iwas Reparation considered as a problem ? --
s o st Rt RS s 2
1) Why did the Weimer Republic- suffer from instability from the .ve'ry

beginning ?

measmmmefm\eaqmﬁw%?
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' cj ~ What was the significance of Dawes plan.

wierme SR gy & 7
d) What -was the significance ‘of the Spanish civil war in international . -
politics 2.
YIS FRANNGTS RS 0T Tleod F ozt v
e) Why was NATO formed ?
- ANCH (I 5ifeS 77 2
f)  What do you understand by the ‘Cuban Missile Crisis’ ?
‘IR ORI RIS [T QAT 2
]g) What do you mean by ‘Great Leap Forward’ ?
‘Great Leap Forward’ 3109 ¢ @m@m 2
h} © How would you explain the rise of a Uni-polar world ?

a‘ﬁéwﬁma%-wwﬂﬁﬁr@mwwwm?

Group - B
fawm«

Answer any four of the following questions. 4 x 20-= 80

¥ I BR 2o Saw fer)

2. Was the 1919 Versailles Settlement really ‘harsh’ ?
sp35-a7 iR AR e sher awme foer 2

3. - What measures did France adopt to overcome her sense of insecurity after
1919 ? How did these measures affect European diﬁlomatic relations during the ,
period between the two world wars ? | 12+8
m:amﬂwﬁmﬁmwwvﬁww%ﬁsw ozl el 2 R
ﬁﬂmﬂﬁﬂ%ﬁ@%fﬁtﬂ%«ﬁ@@ﬁ@%%ﬁ@ﬁ@wv
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4, What are the factoré behind the foundation of the League of Nations ? Why did
this organization ultimately fail ? ' | 12+ 8
Aol T PR ARSHR OIS PRSP T 2 7 or(g 9B srestolh @ 5y @ 2
S. Analyse the impact of the World Economic Depression on International
relations.
RIS TNER @ort [y wreftafos e eror faemd 7= |
6.  Discuss Stalin’s foreign policy towards Eastern Europe from 1945 to 1953, Was
Sovietization of Eastern Europe inevitable ? - 12+8

Y38¢ (AT S5¢0-aF W o TIRo ofs Snferera faoer WS faoma w1 1 o

BT ISR & wered &t ¢
7. What was the basis of Nehru's. policy of non-alignment ? Assess India’s
.contribution to the growth of non-alighment movement. 10+ 10

FIEFT CEn faaeery e fofe f e 2 c@?ﬁ’;fﬁm AT It S1E0eq SaWieT -

AT S |
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8. Why did the United States become involved in the Korean war ? What were its
effec;ts in jnternationé.l Ipol.itics ? | . |
4 T8 (TEN Y17 TS TR ?_Wmﬂﬁsmwe |

9. - What were the i;eatures of the politics of Detente ? Why did it fail ? i2+8

ﬁmmﬁﬁ@rﬁsﬁﬁmi‘%mmﬁmﬁz

10. .  Discuss the impact of globalization on the contemporary world.

{ Old Syllabus )

Answer Question No. 1 and any four from the rest.
> WL 2P @3 S (T (B I ord $eR e
Group - A

frert-=
1. | Answe; any four pf the following questions : | ' _ 4. b 5. =20.
w7 v G T o B i 3
a) Whét was the significance of the storm.ing of the Bastille ?

R ol TG Slesfy o 2

b}  What was the Civil Constitution of the Clergy ?
BT SO TR 6 et 2
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Wes€ ate Umversuty
- B.A./B.Sc./B.Com { Honom Major, General ) Exammatlons, 2015

_ ~ PART-II -
- HISTORY — HONOURS
- Paper - VIII '
. ( NEW & OLD SYLLABUS ) - '
Duration : 4 Hours} : ' : [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
TSH PR Arore ©INrg (19 FEy)
ATTE SRYNSIeT 7T (OIS |
({ REW SYLLABUS )
Answer Q. No. 1"and any four from the rest.
¥ 2% @ TIRE (T (P BT o Te e

Group-A
st . _
1. Answer any four questions : : 4x5=20
© (T (PN BRI o Sy T -

a) What is meant by the ‘Tribute System ?

e el TS B @R 2
b} . What was Junk trade in China ?

P o Al | famm 2
<) Write a short note on the Treaty of Nanking.

TAiee piea Torq ol elna Brenl forget (-
d) Was the Yenan experiment in China a new social model ?
_ Bt B < frmt-film 5 @3l g i weee e 0
e) What is meant by the rule of the warlords in China ?

Bt IR M To10 B AR 2
f) Explain the significance of the Perry Mission (1853) in Japan
SIS (AR PTET (Sre0) Sreor aa @3+ -

g How did 'Zaibatsu' rise in Japan ?

e SRR S freice zae 0 -
hj Analyse the background of the Washington Conference (1921-1922).
\smﬁfgﬁ FTWETETT (333-353) (AT fazarge w1
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Group-B
- Remt-y |
Answer any four questions. ' T 4 x20=80
3 (TR BIAf% AR Ted )

How was central and local government structured under the Ching rulers ?

fox ot AR @R ¢ FNY FRIET T @ T 2

" Do you think that British mercantile and industrial interests played a role in the

outbreak of the Opium War ? Was Opmm questlon an add1tlonal issue in the
Opium War ? : 10 + 10

mﬂﬁﬁmwmmwmmﬁmm\ﬁmwm@m 1 T 2
a% & iy s ol o @ ofefre ey w wifvwfe »

How would you explain the weaknesses in the process of Chinese
industrialisation in the early 20th century ?

ﬁwwﬁacwﬁwﬁmﬁﬁﬁmﬂaﬁﬁm@ﬁﬁaﬁrwﬁmwﬂnmm9

- What were the far-reaching effects of the May Fourth movement in Chinese
 history ?

Wmmmﬁwwmwa&%%v

Account. for the differences in the Chinese and. Japanese responses to the
Western impact.

W%%é.@WMWWWWW|

How central was the role of the state in determining the nature of Japan's-
economic development in the late 19th century ?

TR =R A WO e SATe AR St el g5 e, o e
TFAI o
What were the major social and economic programmes undertaken in the

aftermath of the Meiji Restoration to abolish Feudalism ? What were the
implications of these changes ? 10+10

WWWWWWN%ﬁFﬁWWSWW

2% T AT 7 @F ARG e F &= ¢

Discuss the background and effects of the Sino-Japanese war of 1894-95.
10+ 10

‘was-be— AT BI- TR A mﬁ?ﬂ R FETEH HIETCAT DA |
Explain the growth of militarism in Japan during the 1930s and 1940s. °

T [ @ bfRTE e WP FINEIME S A |
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